/DVIRB

3UDFRZQLN 5RINaDG  PJU - HG]LHUVNL = 0RGLPL 7\J

o
™
=
n
A N N N N
o 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU
o _HG]IHWNL = (RGLPW $ _HG]IHWNL = (RGLPW $ _HG]IHWNL = (RGLPW $ _HG]IHWNL = (RGLPW $
T )+)/I)S/ 1 )+)/IS/ 7 )+ 7 )+)IS/
&+
| |
= 7N 7N 7N 7N 7N
< 7iXPDFIHQID ) 7iXPDFIHQID ) 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 7iXPDFHQID XVIQH PJU
a VAPXIIDQIF]QH 1DE 1C] VAPXIDQIF]QH (DE iC] -HG]IHWNL = IRGLPW $ _HG]JIHWNL = (RGLPW $ _HG]JIHIN. = (RGLPW $
N PJU . HG]IHWNL = IRGLPL PJU . HG]IHWNL = IRGLPL D+HIIS/ T D+HI/I$S/ 1 2)+)/)$0 7
= =% )+)/)$/ =% SED VALV
L 7 7
N N N N N
% 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 31-$ NRQZHWDFIH PJU 7iXPDFIHQID )
= _HG]IHUWNL = (RGLPW =% _HG]IHUWNL = (RGLPW =% _HG]IHUWNL = (RGLPW =% _HG]IHWNL = (RGLPW =% VAPXUIDQIF]QH (DE iC]
Q D VAV DD VA LV IS/ DEIIS T PJU . HGJIHIVNL = IRGLPL
n &+ =% D+IIS/
&+




